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ORI & ML 22,550
— 2018 | 15,400,000 = 1CH 15,400
— 2 ZEXAI 4,950,000& =1CH 4,950
— 2 H 2L EH 550, 000& *20H 1,100
—ZHZBEH 1,100,000& = 1CH 1,100
2 P& 29 309,254 309,254
101 2124 4| 48,995 48,995
04 JI12ZtH 22Xt S 48,995 48,995
oY &E 29 o) 48,995
—-JlE2a2 0,300& *3% «222 «9JH & 35,819
—F=5ds 60,300& *3H x40 7,236
—B8a 220,000 »3H *9JH & 5,940
201 L2 Y| 10,859 10,859
01 AFR2t2l bl 2,540 2,540
OYZE 29 2,540
— 2428 228 P2 500,000& *43| 2,000
— 827 gtz 60,000 *1CH+x9H & 540
02 352494l 8,319 8,319
OY&E 29 8,319
—AQE M|, =E2=2 500,000& 904 & 4,500
—UQE U K2 2 1,273& *3,0004 3,819
206 TH 2 Hl 106,900 106,900
01 2l 106,900 106,900
0% 2YME 106,900
—3X, 241 120& *670,000= 80,400
— 2P MAZ 5,000& *400% 2,000
—Z2QMAS 6,500& *3,000% 19,500
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AN U=SEHAZ L
M s€IlsHL X
28 JIs:2E3 o &)

- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S %Ei 2t
Al 5,000
= 5,000
402 SI2F 20| & 10,000 10,000
Xl 5,000
= 5,000
02 CIZEXIEAIS X (0| XM THL) 10,000 10,000
ORRUIX JIS=2E2S /st NS AIE AIY
10,000,000 = 1JH 2~ 10,000
Xl 5,000
= 5,000
A AIDE ABE(HSOIRA SAHH0 SEXEAIA 60,000 60,000
FESS
= 30,000
= 30,000
402 SI2vXHE0| & 60,000 60,000
= 30,000
= 30,000
02 QX E A E X (0| XM THSH) 60,000 60,000
OHSoIRA SO SFXEAAE EFA|
H 60,000,000 =10 A 60,000
= 30,000
= 30,000
A Dl AE(AEDM 2 HO0I2X &8 E 30,000 30,000
AME AlY)
= 15,000
= 15,000
402 IV X201 M 30,000 30,000
= 15,000
= 15,000
02 CIZEXIE AL EX (0| XM THL) 30,000 30,000
OMEIIA L HIOIXH &2 EAEHIMA Al
=) 15,000,000 *2JH 2 30,000
= 15,000
= 15,000
A Y282 ASF MY 30,000 30,000
402 BI2H X 20| M 30,000 30,000
01 SIZEXIEANYEXR (MMM A) 30,000 30,000
OH UM SLASBHE AST AlEY 30,000
ANETHHH X HZZO HE JIsEa=2 AMYE(EX) 8,000 8,000
& 3,000
= 5,000
402 SI2FXHE0| & 8,000 8,000
& 3,000
= 5,000
02 BIZtXIEANYE X (0OIETHH) 8,000 8,000




SN BESHATY
M sHI=sHLEXA
e 288 I3 CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAMETHHHXIH R ZHHZ Il =2 S A
10,000, 000& = 17 2= *80% 8,000
= 3,000
s 5,000
HEA sMsd)|sEg 23835 50,000 0 50,000
< 15,000
s 35,000
401 Al HI K 201 I 10,000 0 10,000
< 3,000
s 7,000
01 A& HI 10,000 0 10,000
OANERLSE(24) ANEES
10,000,000& *1JH £ 10,000
< 3,000
s 7,000
402 QI2H X201 M 40,000 0 40,000
< 12,000
[ia 28,000
02 QI EALSEZ (OIS ) 40,000 0 40,000
OAEZ 20 SZHLAIH
25,000, 000& »2H 2= «80% 40,000
< 12,000
s 28,000
AN DesE=2 1,635,901 847,507 788,394
= 175,000
X 415,000
s 1,045,901
b= HZ2IISHY APAY 44,018 52,608 A 8,590
101 @124l 3,618 3,108 510
04 JIZHHZ2XNSE = 3,618 3,108 510
Olt=AlEH 7 LEURY 60,3002 «1H+60L 3,618
201 ¢et24] 3,500 3,500 0
01 At 2t 2l 3,500 3,500 0
OANEHFAE 2L 3,500
—BOMME 2,000
—HEEAH 50,000& x20& 1,000
—=4dz 100, 000& *53] 500
202 O4dl 3,900 5,200 A 1,300
01 = LH 4 Hi 3,900 5,200 A 1,300
OdFNE g8 =& 3,900
207 A O] 33,000 31,800 1,200
03 A& 224l 33,000 31,800 1,200
OANEHZAE 2L 33,000
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R AR DsEas (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—diER= D= 5T 79
30,000&*3= %100 9,000
— N8R 22X (EIH, HE 5)
20,000 *10= x50 10,000
—NEoT H2PEEH 7Y
20,0002 *10=*10H 2,000
—NEST Al Y R
40,0002 *30=*10H 12,000
NEE U MA XA 39,700 0 39,700
201 et 9| 7,000 0 7,000
03 HAI2 G HI 7,000 0 7,000
OfHeltsd 35 7,000
301 et A= 3,000 0 3,000
09 SHAIAHI B A2 3,000 0 3,000
O#xHZIOEd F3s 3,000
402 SI2vXHE0| ™ 29,700 0 29,700
01 QI EAS EXR (M) 29,700 0 29,700
OCAZIHIOIH OIS At MEAM S& AlY
35,000,000 =14 2~ *50% 17,500
Ot EBLEE2 SIE2AD| B2
1,000,000 x 100 2 *50% 5,000
OoHd YHE 75 ASAY
3,000,000 *3JH 2 *80% 7,200
AStHAsANHANJLAHS A 313,330 275,875 37,455
101 Q121 H| 27,430 23,475 3,955
04 JIZtHIZ22XNSE S 27,430 23,475 3,955
OREOMSSANRALALY
60, 300& 22 90 10,854
OB S AHTHMAAIA AlAE 2 12 16,576
- Jl=22 60,300& 1 207 12,483
-S54 60,300 12 43 2,593
— B8 =2 150,000 x 100K & 1,500
201 LBt 26,900 26,900 0
01 AP 22| H| 7,000 7,000 0
O HASNMANIHMEH2A 7,000
— SIS MAEEAEIAHAME
1,000& *2,0005 2,000
—ANEENAELS 100,000& x50& 5,000
02 2=2=24%H| 19,900 19,900 0
OEBHA=STMAHAHAIE R XL 22 19,900
— DM LIIINISANEZLE 1,900,000 %10 19,000
—XNEASTHMHAREAE ASH|
450,000 =20 & 900
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SN BHESHTY
X

M sgIIsHgEXd

[und

S AN D=3 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
206 M = Hl 209,000 225,500 A 16,500
01 & bl 209,000 225,500 A 16,500
OrEBAHA=SNMAIAISME 209,000
—SES0M= K = 180, 000& *300= 54,000
— UMMM = 350,000& x20E& 7,000
— A= 2 =X+ 180, 000& x50 *9H 81,000
—2ETH(HEARe) & 2 60,000
—EIERIINSsAME=ED]
3,500& *1,000H 3,500
—UAHDIMESHMES SO
3,500& *1,000H 3,500
405 XHoHF SHI 50,000 0 50,000
01 JtAY = ZF SHI 50,000 0 50,000
OnggERI| 5,000,000 *1CH 5,000
OZ&dau I 45,000, 0003 =104 45,000
sy Z22de E2 MY 22,394 23,024 A 630
101 @121 12,394 10,024 2,370
04 JI2ZtHZ2E2XNEE S 12,394 10,024 2,370
OS2zt Yy L 22| oFe 12,394
A== 60,300& *1H 150 9,045
S22 60,300& *1H x30 1,809
—28= 220,000& *74 & 1,540
201 LEt2 A Y| 1,000 0 1,000
02 332494l 1,000 0 1,000
OZ22 et eI KA ¢ 2
100,000& x 105 1,000
206 M = Hl 9,000 10,000 A 1,000
01 M= bl 9,000 10,000 A 1,000
OS=zdctE2Z2 MY HE 9,000
— Z22deis = 200,000& x25& 5,000
—Z22de E=28D 1,000& *4,000H 4,000
AANE ASHMAMAH 25 MSE =4 24,459 45,000 N 20,541
101 2124 1| 1,809 0 1,809
04 JIZtH2ZXNEE S 1,809 0 1,809
O MSBE 22| 2222 60,3003 x1H 30! 1,809
206 M=l 22,650 45,000 N 22,350
01 &2 bl 22,650 45,000 N 22,350
O ZANERLFSNNMSE2A N = U] 22,650
—EF 52,000& *2001L 10,400
— EH 2 185,000& x50& 9,250
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X{ XH -
S =

1S xe20)
2olENETE

&l Oi‘??Ht” =& CEE-ED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
—H=2+3g 15,000& 200 3,000
FE20ME 28 GITYF ol AIEAY 12,000 15,000 23,000
402 RIZEX201 A 12,000 15,000 A 3,000
01 2IZEH 2 A B (KM TH &) 12,000 15,000 A 3,000
ORE0IME 28 g™l AIE
5,000,000 *4JH A *60% 12,000
ANesg SHS KNI (EALEEHAY) 330,000 356,000 A 26,000
Xl 165,000
i 165,000
201 L2l 14,000 20,000 A 6,000
Xl 7,000
s 7,000
03 A2 Z Hl 14,000 20,000 26,000
OF At &hH3E & HES W=
7,000,000& »23| 14,000
X 7,000
e 7,000
207 Ao H| 20,000 20,000 0
Xl 10,000
= 10,000
01 289 20,000 20,000 0
OALZt EollsS &M AE A+
20,000,000 =14l 20,000
Xl 10,000
e 10,000
301 L2 A= 6,000 0 6,000
Xl 3,000
s 3,000
09 HALAHIE& S 6,000 0 6,000
O&==AtL AHS & HES W=R
3,000,000& »23| 6,000
Xl 3,000
i 3,000
307 glz2tol & 10,000 90,000 A 80,000
Xl 5,000
s 5,000
02 It MAHEE 10,000 90,000 A 80,000
O&F=Atl SH2el sk
10,000, 000& 13| 10,000
Xl 5,000
e 5,000
401 Al&HI & 28I 24,000 0 24,000
Xl 12,000
s 12,000
01 A& HI 24,000 0 24,000




SN BHESHTY
X

M sgIIsHgEXd

[und

& HRME D=2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OALLLAIE Z AbDE GAPRI S S tAIE B &
24,000,000 =104 2 24,000
Xl 12,000
s 12,000
402 BI2FX=201 M 256,000 190,000 66,000
X 128,000
s 128,000
02 QI EASEZ (01X E) 256,000 190,000 66,000
OZ=Atl SSCHS XA 66,000
— 24 FIAE 15,000, 000& *23] 30,000
X 15,000
2 15,000
— HIEALD THEIIASE X
12,000, 0002 »3CH 36,000
Xl 18,000
s 18,000
ONEE At GAPYES SS0IEAE X
95,000,000 *20H 2~ 190,000
Xl 95,000
s 95,000
sJlesd, sgllsdy ZSERAA2INA(2E 10,000 10,000 0
AN ASHELSAIY)
= 5,000
[ia 5,000
101 14l 9,827 9,765 62
2 4,914
e 4,913
M4 D12t ZE2EXREES 9,827 9,765 62
OB FNAYLZEELURY 9,827
—Jlas 60,3003 x1H » 127 7,659
= 3,830
[ia 3,829
—Resgs¥ 60,3003 x 1 26 1,568
= 784
s 784
B8 600
= 300
i 300
201 LBt 173 235 AB2
= 86
A 87
01 At 22l 173 235 AB2
OMEESY 17,3002 105 173
= 86
s 87
Nogels 2ol X (F2HNH2E AZSAM 300,000 0 300,000
Bl ARE)
Xl 150,000




CsgllEny
CHINE D=2

D FASHADD
X

&

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o 150,000
101 1244 dl 19,290 19,290
Xl 9,645
s 9,645
04 JIZHHZ2XREES 19,290 19,290
OesEAdH 29 24l 19,290
—Jl=s 60,3003 x 1 246 14,834
Xl 7,417
s 7,417
— R 60,3003 12«52 3,136
X 1,568
s 1,568
—BE= 110,000 124 & 1,320
Xl 660
i 660
206 M= Hl 85,000 85,000
Xl 42,500
s 42,500
01 =8l 85,000 85,000
OSSBAHH 2EME 85,000
—-2gWs(0igy, %ol S)
3,000,000& 203 60,000
Xl 30,000
s 30,000
—ZEYHA S 5,000& x5,000& 25,000
Xl 12,500
s 12,500
401 Al Bl 28I 140,710 140,710
Xl 70,355
s 70,355
01 A& HI 140,710 140,710
Ost=2MHa2s USSAHYH 2= 140,710
—TEZMME PE(2I2EY)
120,000, 000& 14! 120,000
Xl 60,000
s 60,000
—Md2XdED &X 16,000, 000& 14 16,000
Xl 8,000
s 8,000
— & Al E A 4,710,000 =14 4,710
Xl 2,355
[ia 2,355
405 TtobF S 55,000 55,000
Xl 27,500
e 27,500
01 AL EFSFHSHI 55,000 55,000
OA=ZIIRHM +< 11,000, 000& x5& 55,000
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SN BHESHTY
X

M sgIIsHgEXd

[und

R AR DsEas (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 27,500
= 27,500
S ADE AE(EA AN DIME DS B 50,000 0 50,000
g 23)
= 25,000
= 25,000
206 M = dl 45,000 0 45,000
= 22,500
= 22,500
01 X2 8| 45,000 0 45,000
OSA HMHZ D182 DS BHIWXS 2
el 150,000 x33 =+ 1004 45,000
= 22,500
= 22,500
405 XHoHFE S HI 5,000 0 5,000
= 2,500
o 2,500
01 AL 2B F S| 5,000 0 5,000
HEIDIE (pH, EC S) 3,000,000 =1CH 3,000
- 1,500
= 1,500
OFLAEXMS 2,000,000 «1CH 2,000
= 1,000
= 1,000
S A0lE ANE(BHE 2H BHEe M4SN o 40,000 0 40,000
HAIED)
= 20,000
= 20,000
402 BI2H X =20l M 40,000 0 40,000
= 20,000
= 20,000
02 CIZEXIEAIS E X (0| M THL) 40,000 0 40,000
ONME 2H Holse 0M=2H SH AlY
20,000,000 x204 &~ 40,000
= 20,000
= 20,000
= AMIls AE(H A StH-SH AM2&s 22 250,000 0 250,000
THHHAIA B 1= AlY)
= 125,000
= 125,000
402 SI2vXHE0| & 250,000 0 250,000
= 125,000
= 125,000
02 BIZtXIEANYE X (OIETHH) 250,000 0 250,000
OH UH StAH-sH AMSEH=S LZTHEHAIAE
2E ANHY 125,000,000 *204 2~ 250,000
= 125,000
o 125,000
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SN BHESHTY
=R R DI ST

[und

el Y JIsEs (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
AN eas =508 ZH(ICT SAr2el M5 AlY 50,000 0 50,000
)
Xl 25,000
[ia 25,000
402 RI2EXt20l ™ 50,000 0 50,000
X 25,000
e 25,000
02 22t X2 AL E X (01X THE) 50,000 0 50,000
OICT SAt2te] M5 JsEa
50,000,000 =104 2 50,000
X 25,000
s 25,000
AN g =20/ 24 (DEE LM SEae 50,000 0 50,000
Alg)
Xl 25,000
s 25,000
402 2I2H X201 M 50,000 0 50,000
Xl 25,000
s 25,000
02 QI E2AIL EZ (01X THS) 50,000 0 50,000
ONZE WdMa Sgatel Alg
50,000,000 =14 2 50,000
Xl 25,000
s 25,000
MXNEE IS ASR2E 23 AEAY 100,000 0 100,000
Xl 50,000
s 50,000
402 QI2H X201 M 100,000 0 100,000
X 50,000
[ia 50,000
02 QI 2 AL EZ(OI X TH ) 100,000 0 100,000
OMXEE JIE ANESRE 22 AIEAY
100,000, 0003 *1JH £ 100,000
Xl 50,000
s 50,000
HY2IZH (=S A2 27,470 9,240 18,230
Jl2Z3l 27,470 9,240 18,230
JlE2&tl 27,470 9,240 18,230
201 et 17,630 0 17,630
01 At 22l 12,630 0 12,630
OAMEH 29 12,630
—SAD YRB(BESHHTD)
330,000& 122 3,960
— SAD YUZ(AFBAIEE) 99,0002 *12& 1,188
—&d=J gX= 60,000& 123 720
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